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2016 teacher assessment exemplification:
end of key stage 1

Key stage 1 (KS1) mathematics teacher assessment (TA), using the interim teacher
assessment frameworks, is statutory for 2016.

This document contains material that exemplifies all of the statements within the KS1
interim TA framework for ‘working at greater depth within the expected standard".
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Use of the exemplification materials

Schools must use the interim TA frameworks to reach their TA judgements.

If teachers are confident in their judgements, they do not need to refer to the
exemplification materials. The exemplification materials are there to help teachers
make their judgements where they want additional guidance.

Local authorities (LAs) may find it useful to refer to exemplification materials to
support external moderation visits.

The judgement as to whether a pupil meets a statement is made across a collection
of evidence and not on individual pieces.

This document consists of pieces of work drawn from different pupils.

Standards and Testing Agency — 2016 teacher assessment exemplification: end of key stage 1 — Mathematics

Page 3 of 20



Note: you must also refer to the ‘Interim teacher assessment frameworks at the end of key
stage 1" on GOV.UK as they have not been fully duplicated here.

Interim teacher assessment framework at the end of key stage 1:
mathematics

Working towards the expected standard

The pupil can demonstrate an understanding of place value, though may still need
to use apparatus to support them (e.g. by stating the difference in the tens and ones
between 2 numbers i.e. 77 and 33 has a difference of 40 for the tens and a difference
of 4 for the ones; by writing number statements such as 35 < 53 and 42 > 36).

The pupil can count in twos, fives and tens from 0 and use counting strategies to
solve problems (e.g. count the number of chairs in a diagram when the chairs are
organised in 7 rows of 5 by counting in fives).

The pupil can read and write numbers correctly in numerals up to 100
(e.g. can write the numbers 14 and 41 correctly).

The pupil can use number bonds and related subtraction facts within 20
(g.18=9+7%,15=6+7).

The pupil can add and subtract a two-digit number and ones and a two-digit
number and tens where no regrouping is required (e.g. 23 + 5; 46 + 20), they can
demonstrate their method using concrete apparatus or pictorial representations.

The pupil can recall doubles and halves to 20 (e.g. pupil knows that double 2 is 4,
double 5 is 10 and half of 18 is 9).

The pupil can recognise and name triangles, rectangles, squares, circles, cuboids,
cubes, pyramids and spheres from a group of shapes or from pictures of the shapes.

Working at the expected standard
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The pupil can partition two-digit numbers into different combinations of tens and
ones. This may include using apparatus (e.g. 23 is the same as 2 tens and 3 ones
which is the same as 1 ten and 13 ones).

The pupil can add 2 two-digit numbers within 100 (e.g. 48 + 35) and can
demonstrate their method using concrete apparatus or pictorial representations.

The pupil can use estimation to check that their answers to a calculation are
reasonable (e.g. knowing that 48 + 35 will be less than 100).

The pupil can subtract mentally a two-digit number from another two-digit number
when there is no regrouping required (e.g. 74 — 33).

The pupil can recognise the inverse relationships between addition and subtraction
and use this to check calculations and work out missing number problems

(e.g. A — 14 = 23).

The pupil can recall and use multiplication and division facts for the 2, 5 and 10
multiplication tables to solve simple problems, demonstrating an understanding

of commutativity as necessary (e.g. knowing they can make 7 groups of 5 from

35 blocks and writing 35 + 5 = 7; sharing 40 cherries between 10 people and
writing 40 + 10 = 4; stating the total value of six 5p coins).

The pupil can identify 1/3, 1/4, 1/2, 2/4, 3/a and knows that all parts must be equal
parts of the whole.

Continued on the next page
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Working at the expected standard (continued)

The pupil can use different coins to make the same amount (e.g. pupil uses coins to
make 50p in different ways; pupil can work out how many £2 coins are needed to
exchange for a £20 note).

The pupil can read scales in divisions of ones, twos, fives and tens in a practical
situation where all numbers on the scale are given (e.g. pupil reads the temperature
on a thermometer or measures capacities using a measuring jug).

The pupil can read the time on the clock to the nearest 15 minutes.

The pupil can describe properties of 2-D and 3-D shapes (e.g. the pupil describes
a triangle: it has 3 sides, 3 vertices and 1 line of symmetry; the pupil describes a
pyramid: it has 8 edges, 5 faces, 4 of which are triangles and one is a square).

Working at greater depth within the expected standard
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The pupil can reason about addition (e.g. pupil can reason that the sum of 3 odd
numbers will always be odd).

The pupil can use multiplication facts to make deductions outside known
multiplication facts (e.g. a pupil knows that multiples of 5 have one digit of 0 or 5
and uses this to reason that 18 x 5 cannot be 92 as it is not a multiple of 5).

The pupil can work out mental calculations where regrouping is required

(e.g. 52 - 27; 91 -73).

The pupil can solve more complex missing number problems (e.g. 14 + | -3=17;
14 + A =15+ 27).

The pupil can determine remainders given known facts (e.g. given 15 +5 =3
and has a remainder of 0, pupil recognises that 16 + 5 will have a remainder of 1;
knowing that 2 x 7 = 14 and 2 x 8 = 16, pupil explains that making pairs of socks
from 15 identical socks will give 7 pairs and one sock will be left).

The pupil can solve word problems that involve more than one step (e.g. which
has the most biscuits, 4 packets of biscuits with 5 in each packet or 3 packets of
biscuits with 10 in each packet?).

The pupil can recognise the relationships between addition and subtraction and
can rewrite addition statements as simplified multiplication statements
(eg.10+10+10+5+5=3x10+2x5=4x10).

The pupil can find and compare fractions of amounts (e.g. 1/4 of £20 = £5 and
1/2 of £8 = £4 so 1/4 of £20 is greater than 1/2 of £8).

The pupil can read the time on the clock to the nearest 5 minutes.

The pupil can read scales in divisions of ones, twos, fives and tens in a practical
situation where not all numbers on the scale are given.

The pupil can describe similarities and differences of shape properties (e.g. finds
2 different 2-D shapes that only have one line of symmetry; that a cube and a
cuboid have the same number of edges, faces and vertices but can describe what
is different about them).

Standards and Testing Agency — 2016 teacher assessment exemplification: end of key stage 1 — Mathematics

Page 5 of 20



The pupil can reason about addition (e.g. pupil can reason that the sum of 3 odd numbers will always be odd).

Are the statements always true, sometimes true or never true?

If two even numbers are added
together the total is an even number.
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Pupils had to work in pairs, taking statements from the middle of the table and deciding whether they were always
true, sometimes true or never true. There was no supporting apparatus available to the class. This pupil was able to
clearly explain how they worked through the task and knew that they needed to try several calculations for each
statement before they could decide whether it was always, sometimes or never true. Although they have initially
evaluated the top right-hand statement incorrectly they were able to correctly evaluate it after a prompt from the
teacher; otherwise all statements are correctly interpreted and evaluated.
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The pupil can reason about addition (e.g. pupil can reason that the sum of 3 odd numbers will always be odd).

2016 KS1 mathematics exemplification

Investigating odd numbers
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The pupil realised that adding an odd number of odd numbers resulted in an odd answer, and adding an even
number of odd numbers made an even answer. The pupil knew that if they chose 5 odd numbers the answer would

be odd.
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The pupil can use multiplication facts to make deductions outside known multiplication facts (e.g. a pupil knows that

multiples of 5 have one digit of 0 or 5 and uses this to reason that 18 x 5 cannot be 92 as it is not a multiple of 5).

2016 KS1 mathematics exemplification

Reasoning about numbers

In each case choose a number that could reasonably be correct.

Then explain why you chose that number.
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It's 95 because it
ends in a five or 0
when you count in
fives.

It's 38 because if
counting in 2s it
should be even.

| think it's 190
because when you
count in tens its
all ways in a 0.

It's because
8+8=16

It's 92 because
5+7=12

The pupil used their knowledge of multiplication facts and associated number patterns to rule out options and

select a possible answer.
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The pupil can work out mental calculations where regrouping is required (e.g. 52 — 27; 91 - 73).

8 +10 N
4) h0 60
")1#!14 4 = /0
+ 10 +9
! b1 o

41 77 50

93+ 1/ = 100

+10 +7
33 v

S%@ — 70

+10 +3
57 67 7

The pupils had been working on missing number addition questions and finding the answer using a range of
methods.
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Pupil A added 8 to 42, as they knew this made 50, then added 10 to create 60. Pupil B explained that if they added
10 to 67 , then added 3 that this would make 80. The remaining pupils were also able to correctly complete similar
missing number addition questions.
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The pupil can solve more complex missing number problems (e.g. 14 + D— 3=17;14+ A =15+ 27).

2016 KS1 mathematics exemplification

LI. To sofve missing number problams

§|+11=25+14 v
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+ 15
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-32

The pupil was confident with using simple missing number equations and so was asked to solve the missing number
addition equivalence questions that required 2 steps, e.g. ? + 9 = 25 + 14. The pupil had to find a total for one side
of the equivalence before calculating the missing number. They used bar representation to help with this concept, as

well a mental strategies to find the solution.
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The pupil can determine remainders given known facts (e.g. given 15 + 5 = 3 and has a remainder of 0, pupil recognises
that 16 + 5 will have a remainder of 1; knowing that 2 x 7 = 14 and 2 x 8 = 16, pupil explains that making pairs of socks
from 15 identical socks will give 7 pairs and one sock will be left).

| 5 palrs of socks = Ao socks altogether
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7 palrs of socks = {4 5| socks altogether

71 = A

If I have 13 socks, how many pairs of socks would I have?

Thut aR o puk-g Sauds cipd g Sagk gk T warenlid

There are 6 pairs of socks
and one sock left. | would

§ tenebhor.

have 13 socks together.

The pupil worked quickly and confidently through the task, without the use of any practical equipment, and clearly
explained their understanding when questioned. For example, when explaining that there would be 9 pairs of socks
and 1 sock left over if there were 19 socks altogether, she said 'l already know that 9 pairs of socks is 18 socks and
10 pairs of socks is 20 socks, so there must be 9 pairs of socks with 1 sock left as there aren't enough socks to make

10 pairs. | would need 1 more sock as you need 2 socks for a pair.’
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The pupil can solve word problems that involve more than one step (e.g. which has the most biscuits, 4 packets of
biscuits with 5 in each packet or 3 packets of biscuits with 10 in each packet?).

The pupil can find and compare fractions of amounts (e.g. /4 of £20 = £5 and 1/2 of £8 = £4 so 1/4 of £20 is greater
than 1/2 of £8).
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This demonstrates the pupil's understanding of fractions of amounts and their confidence with 2 step problems.
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The pupil can solve word problems that involve more than one step (e.g. which has the most biscuits, 4 packets of
biscuits with 5 in each packet or 3 packets of biscuits with 10 in each packet?).

2016 KS1 mathematics exemplification

wws ath ong m)(zo %aﬁmﬁ

Ij she bw s 6 pinas, how(jvﬁm\ 00es
ts thak ? txm are 8 Chuldien ot the

do h et ?
ondmotiie gave me £ party, how many pieds tb\tﬁ Rouch e

sweek S‘N)f ond T bouﬁkt 8 halaren

a%é\ floéi\:smﬁsr ;r@o e OB ® O ®O=3e>N
How much WL& u togt me w0 botol ?

How mudh chcu\%e wilk Iaet bock? O D‘ 12“5 @ @ @

3xfo

P =fl-So
P\‘AEKO,) éo Vo) Bxl’« 3—‘* P\CC."—GS—‘J’/S ea_ch
— 50 vhey 3¢’0 3 ¢

§2-20 H&; mumjmora smwdltd
L K when you
§ W=fpio=f2 anokdk Ma&taJ Oﬂba
Schod ’m?

8XS=30
= Sl
I qeed 24 pore oﬁl;LLS

Pupils were given several tasks to choose from and the pupil chose this task.

The pupil correctly used repeated addition and multiplication facts and was also aware that ‘remainders’ existed for
some examples.
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The pupil can recognise the relationships between addition and subtraction and can rewrite addition statements as
simplified multiplication statements (e.g. 10+ 10+ 10+ 5+5=3x 10+ 2 x 5 =4 x 10).
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The pupil produced different correct scenarios and recorded their answers as multiplication statements.
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The pupil can recognise the relationships between addition and subtraction and can rewrite addition statements as
simplified multiplication statements (e.g. 10+ 10+ 10+ 5+5=3x 10+ 2 x 5 =4 x 10).

Using the amounts 18, 20 and 24, what arrays can you make? &wg:z(_ f Iy ks
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Context

Pupils had looked at a range of arrays. They had experience of making the arrays themselves with cubes as well as
describing the arrays, showing progression from talking about repeated addition to recording multiplication
calculation sentences.

The pupils were able to create arrays using cubes for each amount and then record those arrays. The pupils worked
independently to record repeated addition calculations and simplified them as multiplication statements.
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The pupil can find and compare fractions of amounts (e.g. /4 of £20 = £5 and "/ of £8 = £4 so /4 of £20 is greater
than 1/, of £8).
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2016 KS1 mathematics exemplification

A pair of pupils worked together on this, discussing the questions and how they could work out the calculations.

They used multiplication facts, doubles and halves to help solve the questions.

The pupils needed minimal input and little support to work out these problems.
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The pupil can read the time on the clock to the nearest 5 minutes.

* ook ok bhe L_o_gq:;and $rst ...

+ How many munu

past ?

25 past 2

2016 KS1 mathematics exemplification

The pupil worked independently and understood the language of time. Although they made one mistake in the first
row of clocks, there is ample evidence to show the pupil can tell the time, understanding the concept of ‘past’ and
‘to’ the hour.
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The pupil can read scales in divisions of ones, twos, fives and tens in a practical situation where not all numbers on
the scale are given.

She also accurately read the scales on the measuring jug, recording her measurements.
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Pupils were given 4 containers with water in and asked to write down how much water was in each container.
They then had to label each one with the measurement and place them onto a chart titled ‘How much does each
container hold?".

2 pupils sorted the headings for each section on their chart with ease, using the terminology ‘less than’ and ‘greater
than’ appropriately in their explanations for choosing where to place them.
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The pupil can describe similarities and differences of shape properties (e.g. finds 2 different 2-D shapes that only
have one line of symmetry; that a cube and a cuboid have the same number of edges, faces and vertices but can
describe what is different about them).

The cube has 8 vertics and so does the cuboid but the cylinder as none.
The cuboid have 12 eges and the cube has 12 aswell

The cylinder has 2 eges and its curved and the others have all straight eges.
The cube has squre faces there are six of them

The cuboid has 2 squre faces and 4 rectangle faces.
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Pupils could name the shapes and had a clear understanding of the geometrical language of ‘edges’, ‘vertices’, ‘faces’,
‘curved’ and ’straight’.

They were working in a group of 4, to encourage interactive discussion about the shapes, but then worked
independently to record the statements.

The teacher observed the pupils’ discussion, the way they handled shapes and counted the properties. The pupils
also used shape language confidently and corrected each other if the wrong terminology was used. Along with the
recorded evidence, the pupils’ discussion showed a clear understanding of the shape properties.

Standards and Testing Agency — 2016 teacher assessment exemplification: end of key stage 1 — Mathematics Page 19 of 20



Standards

& Testing
Agency

2016 teacher assessment exemplification: end of key stage 1 mathematics
PDF version product code: STA/16/7616/e ISBN: 978-1-78644-200-0

For more copies
Additional printed copies of this booklet are not available. It can be downloaded from
www.gov.uk/government/publications

© Crown copyright and Crown information 2016

Re-use of Crown copyright and Crown information in this document.

Subject to the exceptions listed below, the test materials on this website are Crown copyright or Crown

information and you may re-use them (not including logos) free of charge in any format or medium in

accordance with the terms of the Open Government Licence v3.0 which can be found on the National Archives

website and accessed via the following link: www.nationalarchives.gov.uk/doc/open-government-licence

When you use this information under the Open Government Licence v3.0, you should include the following

attribution: ‘Contains public sector information licensed under the Open Government Licence v3.0’ and xL
where possible provide a link to the licence.

If you have any queries regarding these exemplification materials contact the national curriculum assessments
helpline on 0300 303 3013 or email assessments@education.gov.uk


http://www.gov.uk/government/publications
http://www.nationalarchives.gov.uk/doc/open-government-licence
mailto:assessments@education.gov.uk

